
OVER UNDERoror
Guess whether the number in each statement is over or under the real number.

THERE ARE 52 DAYS UNTIL THE WEDDING.

THE HAPPY COUPLE MET 3 YEARS AGO.

THE AGE GAP BETWEEN THEM IS 5 YEARS.

THEY HAVE BEEN ENGAGED FOR 8 MONTHS.

THERE WILL BE 4 BRIDESMAIDS IN THE WEDDING.

THE WEDDING GUEST LIST INCLUDES 150 PEOPLE.

COLLECTIVELY, THE HAPPY COUPLE HAS 3 SIBLINGS.

HER NEW FULL NAME WILL HAVE A TOTAL OF 10 LETTERS.

SHE TRIED ON 6 DRESSES BEFORE SHE FOUND HERS.

THE HONEYMOON WILL BE 7 DAYS LONG.
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